2009.6.17

http://www.zeneral.co.|p

2QEXSI



2QEXSI



2QEXSI



ZQEXS)L

v

A




(Q1)

]

Q1+E=Q2

o X

(E)

O



Coefficient of Performance, , )

Q1=

COP=QL/E

COP=Q2/E

COP=(Q1+Q2)/E
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(62.5HP+60HP)
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15HP 12 10
20HP 12 11
400HP 16 9
25HP 16 11
30HP 16 11
30HP 17 12 HP
S54HP 18 1
4.5HP 18 2
105HP 18 8
S0HP 19 8
210HP 20 2
125HP 20 12
260HP 20 12
75HP 20 12
30HP 20 12
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PE100: 20 50
10.0MPa 102kgf/cm?
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50HP 12 11
20HP 12 11
20HP 13 1
10HP 13 6
2HP 13 8
4HP 14 1
2HP 14 1
6HP 14 7
15HP 14 8
1HP 14 8
20HP 14 12
6HP 14 12
20HP 15 1
2HP 15 4
1.5HP>=<2 15 8
4><2HP 15 9
3HP 15 10
1.5HP 15 10
50HP 15 11
180HP 15 12
2HP 15 12
15HP 15 12
45HP 16 3
30HP 16 3

ZQEXS)L




15HP 16 6
180HP 16 6
60HP 16 6
2HP><2 16 6
400HP 16 9
170HP 16 6
50HP 16 10
1.5HP 16 11
25HP 16 11
200HP 16 12
3HP 16 12
2HP><2 16 12
10HP 17 2
15HP 17 3
2HP 17 6
30HP 17 10
20HP 17 11
35HP 17 11
45HP 17 12
15HP 17 12
60HP 18 2
20HP 18 2
30HP 18 2
30HP 18 2
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2HP 18 2
3HP 18 2
4.5HP 18 2
5HP 18 2
3HP 18 3
1.5HP 18 3
12HP 18 3
3HP 18 5
1.5HP 18 6
3.2HP 18 6
105HP 18 8
2HP 18 8
20HP 18 11
20HP 18 11
10HP 18 11
70HP 18 12
88HP 18 12
20HP 19 3
2HP 19 4
1.5HP 19 8
40HP 19 9
10HP 20 1
60HP 20 1
210HP 20 2
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8HP 20 3
30HP 20 7
72HP 20 7
20HP 20 8
150HP 20 8
35HP 20 9
8HP 20 10
270HP 20 11
75HP 21 1
108HP 21 1
16HP 21 3
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12HP =<2
8HP><1
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SOGI

1994
1998
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2005
2005
2006
2006
2006
2006
2007
2007
2007
2007
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2008
2008
2008
2009 2
2009 2
2009 3
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120HP(30HP < 4)
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450
400
350
300
250
200
150
100

50

CO2

CO,

hp hp+

270
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- 42,055m2 12,722
- 6,158m2(1,863
- 8,421m2(2,547
420kW
:450KW
25HP =< 16 400HP
20t( )
:42t,28t,26t
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6“(150A

400m>=<3
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25 6.5 8.2 o o
25 ps/cm) 800 o o
(mgCl/ ) 200 o
(mgSO,%/ 200 o
pH4.8) aCo,/ ) | 100 o
aCoO,/ 200 o
(mgCaCQO,/ 150 o
(mgSio./ 50 o
e/ 1.0 o o
(mgCu/ 0.3 o
(mgS?#/ o
(mgNH4+/ ) | 1.0 o
(mgCl/ 0.3
(mgCO,/ ) 4.0
6.0 7.0
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(NEDO, )
COP6.1/5.8 150%: )

(
COP3.5 150% 60HZ)

60HP

15HP
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™

COP 6.19
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8,10,12 ( )
16,20,24

( )
30,36

(3 )

1

=2 8kW(  )/3.15kW( )
=28 ( )
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30HP

10,12,15,18,20,25,30,36HP

120HP

>«
120HP

240HP
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10,12,15,18,20,25,30,36HP
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(R134a)
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(ZEOS)
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for Windows
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PlanU for Excel
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